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•15   
  Prove that the displacement current in a parallel-plate capacitor of capacitance C can be written as id = C(dV/dt), where V is the potential difference between the plates.


•13   
	 


At what rate must the potential difference between the plates of a parallel-plate capacitor with a 2.0 μF capacitance be changed to produce a displacement current of 1.5 A?



67   
	 


In Fig. 32-41, a parallel-plate capacitor is being discharged by a current i = 5.0 A. The plates are square with edge length L = 8.0 mm. (a) What is the rate at which the electric field between the plates is changing? (b) What is the value of  [image: http://edugen.wiley.com/edugen/courses/crs4957/halliday9118/halliday9088c32/math/math070.gif]around the dashed path, where H = 2.0 mm and W = 3.0 mm?
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	••24  
	The magnitude of the electric field between the two circular parallel plates in Fig. 32-32 is E = (4.0 × 105) - (6.0 × 104t), with E in volts per meter and t in seconds. At t = 0, [image: http://edugen.wiley.com/edugen/courses/crs4957/halliday9118/halliday9088c32/math/math003.gif] is upward. The plate area is 4.0 × 10-2 m2. For t ≥ 0, what are the (a) magnitude and (b) direction (up or down) of the displacement current between the plates and (c) is the direction of the induced magnetic field clockwise or counterclockwise in the figure?
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	Figure 32-32   
	Problem 24.
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i = 29 d,’ (displacement current)




